

One-Signed Periodic Solutions of First-Order Functional Difference Equations with Parameter

Yanqiong LU^{1,*}, Ruyun MA¹, Bo LU²

1. College of Mathematics and Statistics, Northwest Normal University, Gansu 730070, P. R. China;

2. College of Mathematics and Computer Science, Northwest Minzu University,

Gansu 730030, P. R. China

Abstract In this paper, the authors obtain the existence of one-signed periodic solutions of the first-order functional difference equation

$$\Delta u(n) = a(n)u(n) - \lambda b(n)f(u(n - \tau(n))), \quad n \in \mathbb{Z}$$

by using global bifurcation techniques, where $a, b : \mathbb{Z} \rightarrow [0, \infty)$ are T -periodic functions with $\sum_{n=1}^T a(n) > 0$, $\sum_{n=1}^T b(n) > 0$; $\tau : \mathbb{Z} \rightarrow \mathbb{Z}$ is T -periodic function, $\lambda > 0$ is a parameter; $f \in C(\mathbb{R}, \mathbb{R})$ and there exist two constants $s_2 < 0 < s_1$ such that $f(s_2) = f(0) = f(s_1) = 0$, $f(s) > 0$ for $s \in (0, s_1) \cup (s_1, \infty)$, and $f(s) < 0$ for $s \in (-\infty, s_2) \cup (s_2, 0)$.

Keywords one-signed periodic solutions; existence; functional difference equations; bifurcation from infinity

MR(2010) Subject Classification 34B15; 34K13; 34G20

1. Introduction

Let T be a positive integer, \mathbb{R} denote the real number set, and \mathbb{Z} be the integer set.

In this paper, we investigate the existence of one-signed periodic solutions of the following functional difference equation

$$\Delta u(n) = a(n)u(n) - \lambda b(n)f(u(n - \tau(n))), \quad n \in \mathbb{Z}, \quad (1.1)$$

where $a, b : \mathbb{Z} \rightarrow [0, \infty)$ are T -periodic functions with $\sum_{n=1}^T a(n) > 0$, $\sum_{n=1}^T b(n) > 0$, $\tau : \mathbb{Z} \rightarrow \mathbb{Z}$ is T -periodic function, $\lambda > 0$ is a parameter. In recent years, there has been considerable interest in the existence of positive solutions of the following differential equation

$$x'(t) = \tilde{a}(t)x(t) - \lambda \tilde{b}(t)\tilde{f}(x(t - \tau(t))), \quad (1.2)$$

where $\tilde{a}, \tilde{b} \in C(\mathbb{R}, [0, \infty))$ are ω -periodic functions with $\int_0^\omega \tilde{a}(t)dt > 0$, $\int_0^\omega \tilde{b}(t)dt > 0$, τ is a continuous ω -periodic function, $\lambda > 0$ is a parameter. (1.2) has been proposed as a model for a variety of physiological processes and conditions including production of blood cells, respiration, and

Received September 5, 2017; Accepted May 17, 2018

Supported by the National Natural Science Foundation of China (Grant Nos. 11626188; 11671322; 11501451), the Natural Science Foundation of Gansu Province (Grant No. 1606RJYA232) and the Young Teachers' Scientific Research Capability Upgrading Project of Northwest Normal University (Grant No. NWNNU-LKQN-15-16).

* Corresponding author

E-mail address: luyq8610@126.com (Yanqiong LU); mary@nwnu.edu.cn (Ruyun MA); lubo55@126.com (Bo LU)

cardiac arrhythmias. Thus, the existence of periodic solutions of first-order differential equations and first-order difference equations has been discussed by many authors, see, for example [1–12] and the references therein.

Recently, Raffoul [11] dealt with the equation (1.1), determined values of λ for which there exist T -periodic positive solutions by using Krasnosel'skii's fixed point theorem under the assumptions:

(H1) $f \in C([0, \infty), [0, \infty))$, and $f(s) > 0$ for $s > 0$.

(H2) $a, b : \mathbb{Z} \rightarrow [0, \infty)$ are T -periodic functions with $\sum_{n=1}^T a(n) > 0$, $\sum_{n=1}^T b(n) > 0$, $\tau : \mathbb{Z} \rightarrow \mathbb{Z}$ is T -periodic function.

(H3) There exist $f_0, f_\infty \in (0, \infty)$, such that

$$f_0 = \lim_{|s| \rightarrow 0} \frac{f(s)}{s}, \quad f_\infty = \lim_{|s| \rightarrow \infty} \frac{f(s)}{s}.$$

He proved the following

Theorem 1.1 ([11]) *Assume that (H1)–(H3) hold and λ satisfies*

$$\frac{1}{\sigma B f_\infty} < \lambda < \frac{1}{C f_0} \quad \text{or} \quad \frac{1}{\sigma C f_0} < \lambda < \frac{1}{B f_\infty}.$$

Then the equation (1.1) has a positive periodic solution. Here

$$C = \max_{n \in \mathbb{Z}} \sum_{s=0}^{T-1} \tilde{G}(n, s) b(s), \quad B = \min_{n \in \mathbb{Z}} \sum_{s=0}^{T-1} \tilde{G}(n, s) b(s), \quad \sigma = \prod_{i=1}^T (1 + a(i))^{-1}.$$

In 2011, by using the Dancer global bifurcation theorem, Ma et al. [12] studied the positive periodic solution of the following generalized form of (1.1)

$$\Delta u(n) = a(n)g(u(n))u(n) - \lambda b(n)f(u(n - \tau(n))), \quad n \in \mathbb{Z}, \tag{1.3}$$

under the assumptions (H1), (H2) and g satisfies

(A1) $g \in C([0, \infty), [0, \infty))$, and there exist positive constants l, L , such that $0 < l \leq g \leq L < \infty$.

They obtained the following

Theorem 1.2 ([12]) *Let (H1), (H2) and (A1) hold. Assume that*

(A2) *There exist $f_0, \underline{f}_\infty, \bar{f}_\infty \in (0, \infty)$ such that*

$$\underline{f}_\infty = \liminf_{s \rightarrow \infty} \frac{f(s)}{s}, \quad \bar{f}_\infty = \limsup_{|s| \rightarrow \infty} \frac{f(s)}{s}.$$

Then the equation (1.3) has a positive T -periodic solution if either

$$\frac{\lambda^\diamond(L)}{\underline{f}_\infty} < \lambda < \frac{\lambda^\diamond(g(0))}{f_0} \quad \text{or} \quad \frac{\lambda^\diamond(g(0))}{f_0} < \lambda < \frac{\lambda^\diamond(l)}{\bar{f}_\infty},$$

where $\lambda^\diamond(c)$ is the first eigenvalue of the linear eigenvalue problem

$$\Delta u(n) = ca(n)u(n) - \lambda b(n)f(u(n - \tau(n))), \quad n \in \mathbb{Z}$$

and c is a positive constant.

However, Raffoul [11] and Ma [12] only focused their attentions on the fact that $f(s) > 0$, $s \in (0, \infty)$. Of course, the natural question is what would happen if f is allowed to have some zeros in $\mathbb{R} \setminus \{0\}$? But it is a difficult job to study the global behavior of the components of nodal solutions of (1.3) under the condition:

(H4) $f \in C(\mathbb{R}, \mathbb{R})$, there exist two constants $s_2 < 0 < s_1$ such that $f(s_2) = f(0) = f(s_1) = 0$, $f(s) > 0$ for $s \in (0, s_1) \cup (s_1, \infty)$, $f(s) < 0$ for $s \in (-\infty, s_2) \cup (s_2, 0)$.

Moreover, we know from the proof of Theorem 1.2 that the assumptions (H1), (H2), (A1) and (A2) imply that the component from the trivial solution at $(\frac{\lambda^\circ(c)}{f_0}, 0)_p$ and the component from infinity at $(\frac{\lambda^\circ(c)}{f_\infty}, \infty)_p$ are coincident (notice that we use $(\frac{\lambda^\circ(c)}{f_0}, 0)_p$ and $(\frac{\lambda^\circ(c)}{f_\infty}, \infty)_p$ to denote the ‘ point ’ in some product spaces, and use (a, b) to denote the usual open interval in this work). However, in Section 2, we will prove that these two components are disjoint under the assumptions (H2)–(H4), in which the essential role is played by the fact whether f possesses zeros in $\mathbb{R} \setminus \{0\}$.

Therefore, in this paper, we are devoted to studying the global behavior of the components of one-signed solutions of (1.1) under the condition (H4), and our main results are sharp.

The rest of this paper is organized as follows: in Section 2, we give some notations and the main results. In Section 3, we are devoted to proving the main results, and we illustrate the results with an appropriate example.

2. Statement of the main results

Let

$$E = \{u : \mathbb{Z} \rightarrow \mathbb{R} \mid u(n + T) = u(n)\}$$

be the Banach space with the norm $\|u\| = \max_{n \in \mathbb{T}} |u(n)|$, where $\mathbb{T} = \{0, 1, \dots, T - 1\}$.

By a positive solution of (1.1) we mean a pair (λ, u) , where $\lambda > 0$ and u is a solution of (1.1) with $u > 0$ in \mathbb{Z} .

It is well known that (1.1) is equivalent to

$$u(n) = \lambda \sum_{s=n}^{n+T-1} G(n, s)b(s)f(u(s - \tau(s))) =: (\mathcal{A}u)(n), \quad n \in \mathbb{Z}, \tag{2.1}$$

where

$$G(n, s) = \frac{\prod_{i=n}^s (1 + a(i))^{-1}}{1 - \prod_{i=1}^T (1 + a(i))^{-1}}, \quad s \in \{n, n + 1, \dots, n + T\}. \tag{2.2}$$

Notice that $0 < \prod_{i=1}^T (1 + a(i))^{-1} < 1$, we have that

$$\frac{\sigma}{1 - \sigma} \leq G(n, s) \leq \frac{1}{1 - \sigma}.$$

Define K be a cone in E by

$$K = \{u \in E \mid u(n) \geq 0, u(n) \geq \sigma \|u\|\}.$$

Proposition 2.1 $\mathcal{A}(K) \subset K$, and $\mathcal{A} : K \rightarrow K$ is completely continuous.

Proof For any $u \in K$, it follows that

$$\begin{aligned} \|\mathcal{A}u\| &= \max_{n \in \mathbb{Z}} \mathcal{A}u(n) = \max_{n \in \mathbb{Z}} \lambda \sum_{s=n}^{n+T-1} G(n, s)b(s)f(u(s - \tau(s))) \\ &\leq \frac{\lambda}{1 - \sigma} \sum_{s=n}^{n+T-1} b(s)f(u(s - \tau(s))), \\ \mathcal{A}u(n) &= \lambda \sum_{s=n}^{n+T-1} G(n, s)b(s)f(u(s - \tau(s))) \\ &\geq \frac{\lambda\sigma}{1 - \sigma} \sum_{s=n}^{n+T-1} b(s)f(u(s - \tau(s))) \geq \sigma\|\mathcal{A}u\|. \end{aligned}$$

So $\mathcal{A}(K) \subset K$. By Areza-Ascoli theorem, $\mathcal{A} : K \rightarrow K$ is completely continuous. \square

Next, let us consider the spectrum of the linear eigenvalue problem

$$\Delta u(n) = a(n)u(n) - \lambda b(n)u(n - \tau(n)), \quad n \in \mathbb{Z}. \tag{2.3}$$

Lemma 2.2 *Assume that (H2) holds. Then the equation (2.3) has a unique eigenvalue λ_1 , which is positive and simple, and the corresponding eigenfunction $\varphi(\cdot)$ is of one sign.*

Proof The equation (2.3) is equivalent to

$$u(n) = \lambda \sum_{s=n}^{n+T-1} G(n, s)b(s)u(s - \tau(s)) =: (\mathcal{T}u)(n), \quad n \in \mathbb{Z}.$$

By the same method as the one used to prove Proposition 2.1, it is easy to prove that \mathcal{T} is a strong positive operator. By the Krein-Rutman Theorem [13, Theorem 19.3], the spectrum radius $r(\mathcal{T}) > 0$ and subsequently, the problem (2.3) has a unique eigenvalue λ_1 , which is positive and simple, and the corresponding eigenfunction $\varphi(\cdot)$ is of one sign. \square

Define $L : E \rightarrow E$ by setting

$$(Lu)(n) := -\Delta u(n) + a(n)u(n), \quad u \in E. \tag{2.4}$$

It is easy to verify that $\sum_{n=1}^T a(n) = 0$ is a resonant condition, so $\sum_{i=1}^T a(i) > 0$ is sufficient to prove that L^{-1} exists. This together with Proposition 2.1 leads to $L^{-1} : E \rightarrow E$ is compact and continuous.

Let $\zeta, \xi \in C(\mathbb{R}, \mathbb{R})$ be such that

$$f(s) = f_0s + \zeta(s), \quad f(s) = f_\infty s + \xi(s). \tag{2.5}$$

Clearly,

$$\lim_{|s| \rightarrow 0} \frac{\zeta(s)}{s} = 0, \quad \lim_{|s| \rightarrow \infty} \frac{\xi(s)}{s} = 0. \tag{2.6}$$

Let us consider

$$Lu(n) - \lambda b(n)f_0u(n - \tau(n)) = \lambda b(n)\zeta(u(n - \tau(n))) \tag{2.7}$$

as a bifurcation problem from the trivial solution $u \equiv 0$, and

$$Lu(n) - \lambda b(n)f_\infty u(n - \tau(n)) = \lambda b(n)\xi(u(n - \tau(n))) \tag{2.8}$$

as a bifurcation problem from infinity. We note that (2.7) and (2.8) are the same, and each of them is equivalent to (1.1).

Let $\mathbb{E} = \mathbb{R} \times E$ under the product topology. We add the points $\{(\lambda, \infty)_p \mid \lambda \in \mathbb{R}\}$ to our space \mathbb{E} . Let S^+ denote the set of positive functions in E and $S^- = -S^+$, and $S = S^- \cup S^+$. They are disjoint and open in E . Finally, let $\Phi^\pm = \mathbb{R} \times S^\pm$ and $\Phi = \mathbb{R} \times S$.

Remark 2.3 It is worth remarking that if u is a nontrivial solution of (1.1) and a, b and f satisfy (H2)–(H4), then $u \in S^\nu$ for some $\nu = \{+, -\}$. To see this, define

$$q(n) = \begin{cases} \frac{f(u(n))}{u(n)}, & u(n) \neq 0, \\ f_0, & u(n) = 0. \end{cases}$$

Thus the equation (1.1) is equivalent to

$$\Delta u(n) = a(n)u(n) - \lambda b(n)q(n - \tau(n))u(n - \tau(n)), \quad n \in \mathbb{Z}. \tag{2.9}$$

Obviously, $b(\cdot)q(\cdot - \tau(\cdot))$ satisfies (H2). It follows from Lemma 2.2 that the nontrivial solution $u \in S^\nu$ for some $\nu \in \{+, -\}$. \square

The result of Rabinowitz [14] for (2.7) can be stated as follows: for each $\nu \in \{+, -\}$, there exists a continuum \mathcal{C}^ν of solutions of (2.7) joining $(\frac{\lambda_1}{f_0}, 0)_p$ to infinity, and $\mathcal{C}^\nu \setminus \{(\frac{\lambda_1}{f_0}, 0)_p\} \subset \Phi^\nu$.

The result of Rabinowitz [15] for (2.8) can be stated as follows: for each $\nu \in \{+, -\}$, there exists a continuum \mathcal{D}^ν of solutions of (2.8) meeting $(\frac{\lambda_1}{f_\infty}, \infty)_p$, and $\mathcal{D}^\nu \setminus \{(\frac{\lambda_1}{f_\infty}, \infty)_p\} \subset \Phi^\nu$.

Our main results are

Theorem 2.4 Assume that (H2)–(H4) hold, and let

(H5) f satisfies the Lipschitz condition in $[s_2, s_1]$.

Then

- (i) For $(\lambda, u) \in \mathcal{C}^+ \cup \mathcal{C}^-$, $s_2 < u(n) < s_1, n \in \mathbb{T}$;
- (ii) For $(\lambda, u) \in \mathcal{D}^+ \cup \mathcal{D}^-$, we have that either $\max_{n \in \mathbb{T}} u(n) > s_1$ or $\min_{n \in \mathbb{T}} u(n) < s_2$.

Corollary 2.5 Let (H2)–(H5) hold. If $f_0 < f_\infty$, then

- (i) If $\lambda \in (\frac{\lambda_1}{f_\infty}, \frac{\lambda_1}{f_0}]$, then (1.1) has at least two solutions u_∞^+ and u_∞^- , such that u_∞^+ is positive on \mathbb{T} and u_∞^- is negative on \mathbb{T} ;
- (ii) If $\lambda \in (\frac{\lambda_1}{f_0}, \infty)$, then (1.1) has at least four solutions $u_\infty^+, u_\infty^-, u_0^+$, and u_0^- , such that u_∞^+, u_0^+ are positive on \mathbb{T} and u_∞^-, u_0^- are negative on \mathbb{T} .

Corollary 2.6 Let (H2)–(H5) hold. If $f_\infty < f_0$, then

- (i) If $\lambda \in (\frac{\lambda_1}{f_0}, \frac{\lambda_1}{f_\infty}]$, then (1.1) has at least two solutions u_0^+ and u_0^- , such that u_0^+ is positive on \mathbb{T} and u_0^- is negative on \mathbb{T} ;
- (ii) If $\lambda \in (\frac{\lambda_1}{f_\infty}, \infty)$, then (1.1) has at least four solutions $u_\infty^+, u_\infty^-, u_0^+$, and u_0^- , such that u_∞^+, u_0^+ are positive on \mathbb{T} and u_∞^-, u_0^- are negative on \mathbb{T} .

3. Proof of the main results

To prove Theorem 2.4, we need the following proposition.

Proposition 3.1 (i) *The discrete first-order boundary value problem*

$$\Delta u(n) - a(n)u(n) + h(n) = 0, \quad n \in \mathbb{T}, \quad u(0) = u(T) \tag{3.1}$$

has a unique solution for all $h \in l^1(0, T)$ if and only if $\prod_{i=0}^{T-1} (1 + a(i)) \neq 1$.

(ii) Let $\prod_{i=0}^{T-1} (1 + a(i)) > 1$ hold. If $h \geq 0$ and $h(\cdot) \not\equiv 0$ on \mathbb{T} , then the solution u of (3.1) is positive on \mathbb{T} .

Proof (i) The equation $\Delta u(n) - a(n)u(n) = 0$ has a solution $u(n) = C \prod_{i=0}^{n-1} (1 + a(i))$, where C is a constant. If $u(n)$ is a nontrivial solution, then by $u(0) = C$, $u(T) = C \prod_{i=0}^{T-1} (1 + a(i))$, we deduce that $\prod_{i=0}^{T-1} (1 + a(i)) = 1$.

On the other hand, from $\prod_{i=0}^{T-1} (1 + a(i)) = 1$, we can get that $\Delta u(n) - a(n)u(n) = 0$ has a nontrivial solution $u(n) = C \prod_{i=0}^{n-1} (1 + a(i))$, where $C \in \mathbb{R} \setminus \{0\}$.

(ii) The difference equation (3.1) can be rewritten to the form

$$u(n+1) \prod_{i=0}^n (1 + a(i))^{-1} - u(n) \prod_{i=0}^{n-1} (1 + a(i))^{-1} + \prod_{i=0}^n (1 + a(i))^{-1} h(n) = 0.$$

By summing the above equation from $s = n$ to $s = n + T - 1$ we obtain

$$u(n) = \sum_{s=n}^{n+T-1} G(n, s)h(s).$$

Since $\prod_{i=0}^{T-1} (1 + a(i)) > 1$, it follows that $G(n, s) > 0$, $s \in \{n, n + 1, \dots, n + T\}$. If $h \geq 0$ and $h(\cdot) \not\equiv 0$ on \mathbb{T} , then $u(n) > 0$ on \mathbb{T} . \square

Proof of Theorem 2.4 Suppose on the contrary that there exists $(\lambda, u) \in \mathcal{C}^+ \cup \mathcal{C}^- \cup \mathcal{D}^+ \cup \mathcal{D}^-$ such that either

$$\max\{u(n) \mid n \in \mathbb{T}\} = s_1,$$

or

$$\min\{u(n) \mid n \in \mathbb{T}\} = s_2.$$

We divide the proof into two cases.

Case 1 $\max\{u(n) \mid n \in \mathbb{T}\} = s_1$.

In this case, we know that

$$0 \leq u(n) \leq s_1, \quad 0 \leq u(n - \tau(n)) \leq s_1, \quad n \in \mathbb{T}.$$

Let us consider the equation (1.1). By (H2), (H4) and (H5), there exists $m \geq 0$ such that $b(n)f(s) + ms$ is strictly increasing in s for $s \in [s_2, s_1]$. Then (1.1) can be rewritten to the form

$$Lu + \lambda mu(n - \tau(n)) = \lambda [b(n)f(u(n - \tau(n))) + mu(n - \tau(n))]$$

since $Lu - a(n)s_1 = 0 = f(s_1)$,

$$Lu - a(n)s_1 + \lambda ms_1 = \lambda [b(n)f(s_1) + ms_1].$$

Subtracting, it follows that

$$L(s_1 - u) + \lambda m(s_1 - u(n - \tau(n))) - a(n)s_1 \geq 0,$$

i.e.,

$$L(s_1 - u) + \lambda ms_1 \geq 0, \quad n \in \mathbb{T}$$

and

$$s_1 - u(0) = s_1 - u(T) > 0.$$

From Proposition 3.1, we deduce that $s_1 > u(n)$, $n \in \mathbb{T}$, which contradicts $\max\{u(n) \mid n \in \mathbb{T}\} = s_1$. Hence,

$$u(n) < s_1, \quad n \in \mathbb{T}.$$

Case 2 $\min\{u(n) \mid n \in \mathbb{T}\} = s_2$.

In this case, we know that

$$s_2 \leq u(n) \leq 0, \quad s_2 \leq u(n - \tau(n)) \leq 0, \quad n \in \mathbb{T}.$$

Let us consider the equation (1.1). By (H2), (H4) and (H5), there exists $m \geq 0$ such that $b(n)f(s) + ms$ is strictly increasing on s for $s \in [s_2, s_1]$. Then we have

$$Lu + \lambda mu(n - \tau(n)) = \lambda[b(n)f(u(n - \tau(n))) + mu(n - \tau(n))]$$

and since $Lu - a(n)s_2 = 0 = f(s_2)$, we have

$$Lu - a(n)s_2 + \lambda ms_2 = \lambda[b(n)f(s_2) + ms_2].$$

Subtracting, we get that

$$L(s_2 - u) + \lambda m(s_2 - u(n - \tau(n))) - a(n)s_2 \leq 0,$$

i.e.,

$$L(s_2 - u) + \lambda ms_2 \leq 0, \quad n \in \mathbb{T}$$

and

$$s_2 - u(0) = s_2 - u(T) < 0.$$

From Proposition 3.1, we deduce that $s_2 - u(n) < 0$, $n \in \mathbb{T}$, this contradicts $\min\{u(n) \mid n \in \mathbb{T}\} = s_2$. Therefore, $s_2 < u(n)$, $n \in \mathbb{T}$. \square

Next, we prove Corollaries 2.5 and 2.6.

Proof of Corollaries 2.5 and 2.6 Since boundary value problem

$$-\Delta u(n) + a(n)u(n) = 0, \quad u(0) = u(T) \tag{3.2}$$

has a unique solution $u \equiv 0$, we get

$$(\mathcal{C}^+ \cup \mathcal{C}^- \cup \mathcal{D}^+ \cup \mathcal{D}^-) \subset \{(\lambda, u)_p \in \mathbb{R} \times E \mid \lambda \geq 0\}.$$

Take $\Lambda \in \mathbb{R}$ as an interval such that $\Lambda \cap \{\frac{\lambda_1}{f_\infty}\} = \{\frac{\lambda_1}{f_\infty}\}$ and \mathcal{M} is a neighborhood of $(\frac{\lambda_1}{f_\infty}, \infty)_p$ whose projection on \mathbb{R} lies in Λ and whose projection on E is bounded away from 0. Then by [15, Theorem 1.6 and Corollary 1.8], we have that for each $\nu \in \{+, -\}$, either

- (1) $\mathcal{D}^\nu \setminus \mathcal{M}$ is bounded in $\mathbb{R} \times E$ in which case $\mathcal{D}^\nu \setminus \mathcal{M}$ meets $\{(\lambda, 0)_p \mid \lambda \in \mathbb{R}\}$, or
- (2) $\mathcal{D}^\nu \setminus \mathcal{M}$ is unbounded.

Moreover, if (1) occurs and $\mathcal{D}^\nu \setminus \mathcal{M}$ has a bounded projection on \mathbb{R} , then $\mathcal{D}^\nu \setminus \mathcal{M}$ meets $(\frac{\lambda_k}{f_\infty}, \infty)_p$ where $\lambda_k \neq \lambda_1$ is another eigenvalue of (2.3).

Obviously, Theorem 2.4 (ii) implies that (1) does not occur. So $\mathcal{D}^+ \setminus \mathcal{M}$ is unbounded.

Remark 2.3 guarantees that \mathcal{D}^+ is a component of solutions of (2.8) in S^+ which meets $(\frac{\lambda_1}{f_\infty}, \infty)_p$, and consequently $\text{Proj}_{\mathbb{R}}(\mathcal{D}^+ \setminus \mathcal{M})$ is unbounded. Thus

$$\text{Proj}_{\mathbb{R}}(\mathcal{D}^+) \supset (\frac{\lambda_1}{f_\infty}, +\infty). \tag{3.3}$$

Similarly, we get

$$\text{Proj}_{\mathbb{R}}(\mathcal{D}^-) \supset (\frac{\lambda_1}{f_\infty}, +\infty). \tag{3.4}$$

By Theorem 2.4, for any $(\lambda, u) \in (\mathcal{C}^+ \cup \mathcal{C}^-)$,

$$\|u\| < \max\{s_1, |s_2|\} := s^*. \tag{3.5}$$

(3.5) and (2.7) imply that

$$\|u\| < \max\{s^*, \|a\|_\infty s^* + \lambda \|b\|_\infty \max_{|s| \leq s^*} |f(s)|\},$$

which means that the sets $\{(\lambda, u) \in \mathcal{C}^+ \mid \lambda \in [0, d]\}$ and $\{(\lambda, u) \in \mathcal{C}^- \mid \lambda \in [0, d]\}$ are bounded for any fixed $d \in (0, \infty)$. This together with the fact that \mathcal{C}^+ and \mathcal{C}^- join $(\frac{\lambda_1}{f_0}, 0)_p$ to infinity yields respectively that

$$\text{Proj}_{\mathbb{R}}(\mathcal{C}^+) \supset (\frac{\lambda_1}{f_0}, +\infty) \tag{3.6}$$

and

$$\text{Proj}_{\mathbb{R}}(\mathcal{C}^-) \supset (\frac{\lambda_1}{f_0}, +\infty). \tag{3.7}$$

Combining (3.3), (3.4), (3.6) and (3.7), we conclude the desired results. \square

Remark 3.2 The methods used in the proof of Theorem 2.4, Corollaries 2.5 and 2.6 have been used in the study of other kinds of boundary value problems, see [16–18] and the references therein.

Remark 3.3 The conditions in Corollaries 2.5 and 2.6 are sharp. Let us take

$$a(n) \equiv a > 0, \lambda = a, b(n) = 1, f(s) = s + h(s), \tau(n) \equiv 0.$$

Let

$$h(s) = \begin{cases} -\frac{2s}{s^2+1}, & s \in (-\infty, -1) \cup (1, +\infty), \\ -\frac{2s^3}{s^2+1}, & s \in [-1, 1], \end{cases}$$

and consider problem

$$\Delta u(n) = a(n)u(n) - a[u(n) + h(u(n))], \quad n \in \mathbb{T}, \quad u(0) = u(T). \tag{3.8}$$

It is easy to see that $\lambda_1 = a$, $f_0 = f_\infty = 1$. Since

$$\frac{\lambda_1}{f_\infty} = a = \frac{\lambda_1}{f_0},$$

the conditions of Corollaries 2.5 and 2.6 are not valid. In this case, (3.8) has no nontrivial solution. In fact, if u is a nontrivial solution of (3.8), then

$$0 = \sum_{n=0}^{T-1} \Delta u(n) = a \sum_{n=0}^{T-1} h(u(n)) \neq 0,$$

which is a contradiction.

Acknowledgements We thank the referees for their time and comments.

References

- [1] W. S. GURNEY, S. P. BLYTHE, R. N. NISBET. *Nicholson's blowflies revisited*. Nature, 1980, **287**: 17–21.
- [2] M. C. MACKEY, L. GLASS. *Oscillations and chaos in physiological control systems*. Science, 1997, **197**: 287–289.
- [3] M. WAZEWSKA-CZYZEWSKA, A. LASOTA. *Mathematical problems of the dynamics of a system of red blood cells*. Mat. Stos. (3), 1976, **6**: 23–40. (in Polish)
- [4] S. N. CHOW. *Existence of periodic solutions of autonomous functional differential equations*. J. Differential Equations, 1974, **15**: 350–378.
- [5] H. I. FREEDMAN, Jianhong WU. *Periodic solutions of single-species models with periodic delay*. SIAM J. Math. Anal., 1992, **23**(3): 689–701.
- [6] Jun WU, Zhicheng WANG. *Positive periodic solutions of second-order nonlinear differential systems with two parameters*. Comput. Math. Appl., 2008, **56**(1): 43–54.
- [7] Suisun CHENG, Guang ZHANG. *Existence of positive periodic solutions for non-autonomous functional differential equations*. Electron. J. Differential Equations, 2001, **59**: 1–8.
- [8] Daqing JIANG, Junjie WEI. *Existence of positive periodic solutions for nonautonomous delay differential equations*. Chinese Ann. Math. Ser. A, 1999, **20**(6): 715–720. (in Chinese)
- [9] Haiyan WANG. *Positive periodic solutions of functional differential systems*. J. Differential Equations, 2004, **202**: 354–366.
- [10] Yongkun LI, Lifei ZHU, Ping LIU. *Positive periodic solutions of nonlinear functional difference equations depending on a parameter*. Comput. Math. Appl., 2004, **48**(10-11): 1453–1459.
- [11] Y. N. RAFFOUL. *Positive periodic solutions of nonlinear functional difference equations*. Electron. J. Differential Equations, 2002, **55**: 1–8.
- [12] Ruyun MA, Chenghua GAO, Jia XU. *Existence of positive solutions for first order discrete periodic boundary value problems with delay*. Nonlinear Anal., 2001, **74**(12): 4186–4191.
- [13] K. DEIMLING. *Nonlinear Functional Analysis*. Springer, Berlin, 1985.
- [14] P. H. RABINOWITZ. *On bifurcation from infinity*. J. Differential Equations, 1973, **14**: 462–475.
- [15] P. H. RABINOWITZ, H. PAUL. *Some global results for nonlinear eigenvalue problems*. J. Functional Analysis, 1971, **7**: 487–513.
- [16] A. AMBROSETTI, P. HESS. *Positive solutions of asymptotically linear elliptic eigenvalue problems*. J. Math. Anal. Appl., 1980, **73**(2): 411–422.
- [17] Ruyun MA. *Global behavior of the components of nodal solutions of asymptotically linear eigenvalue problems*. Appl. Math. Lett., 2008, **21**(7): 754–760.
- [18] Yulian AN, Ruyun MA. *Global behavior of the components for the second order m -point boundary value problems*. Bound. Value Probl. 2008, Art ID 254593, 10 pp.